PROPOSAL

to the

BOARD OF COUNTY COMMISSIONERS COUNTY OF MONMOUTH, NEW JERSEY

for the **Project Entitled:**

2021 ON-CALL CONTRACT FOR CONCRETE CURBS, SIDEWALKS AND DRIVEWAYS (NEW, REMOVAL, REPAIR, REPLACE) AT VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD SEPTEMBER 1, 2021 THROUGH AUGUST 31, 2022

RFB #: F-88-2021

The undersigned hereby declare that he/she has carefully examined the Notice to Bidders, Standard Specifications, Addendum(s) to Standard Specifications, these Special Provisions, Form of Contract and Bond for the Project named above; that he/she has carefully examined the site of the Project as provided in Section 102 of the 2007 Standard Specifications and that he/she will contract to carry out and complete said Project as specified and delineated at the prices per unit measure for each scheduled item of work stated in the Schedule of Prices.

It is understood that the total price, stated by the undersigned in the Schedule of Prices for the various item, is based on the estimated quantities and will control in the awarding of the Contract.

It is further understood that the quantities stated in this Schedule of Prices are estimates only and may be increased or decreased as provided for in the Specifications.

Submitted By:

The undersigned is a Partnership, an individual, Limited Liability Company, or a Corporation under the laws of the State of New Tersey , having principal offices at
CONTRACTOR: Nava Construction, LLC.
ADDRESS: 1216 Stackton Dr. North Brunswick, NJ 08902
TELEPHONE: 732 - 279 - 0057 FAX:
BY: Admary A. Nava
adhan a (Printed)
TITLE: President
DATE: 08/28/21

Project Entitled:

2021 ON-CALL CONTRACT FOR CONCRETE CURBS, SIDEWALKS AND DRIVEWAYS (NEW, REMOVAL, REPAIR, REPLACE) AT VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD SEPTEMBER 1, 2021 THROUGH AUGUST 31, 2022

11 <u>N</u> 0	EM ESTIMAT O. QUANTIT		UNIT PRICE	AMOUNT
1.	8 Unit	Mobilization (Standard)	\$ 3,500.00	\$ 28,000.00
2.	2 Unit	Mobilization (Premium)	\$ 3,000.00	\$ 6,000.00
3.	15 Unit	Breakaway Barricade	\$ 1.00	\$ 15.00
4.	60 Unit	Drum	\$ 1.00	\$ 60.00
5.	60 Unit	Traffic Cone	\$ 1.00	\$ 60.00
6.	1 Unit	Construction Signs, 24" x 18"	\$ 1.00	\$ 1.00
7.	2 Unit	Construction Signs, 48" x 24"	\$ 2. 00	\$ 2.00
8.	20 Unit	Construction Signs, 48" x 48"	\$ 1.00	\$ 20.00
9.	1 Unit	Flashing Arrow Board, 4' x 8'	\$ 1.00	\$ 1.00
10.	1 Unit	Traffic Control Truck with Mounted Crash Cushion	\$ 4,000.00	\$ 4,000.00
11.	4,000 Unit	Uniformed Police Officers Allowance	\$_1.00	\$ <u>4,000.00</u>
12.	40 Hour	Traffic Director, Flagger	\$ 1.00	\$ 40.00
13.	40 S.Y.	Remove Sidewalk – Under 40 Square Yards	\$ 20.00	\$ 800.00
14.	450 S.Y.	Remove Sidewalk – Over 40 Square Yards	\$ 20,00	\$ 9,000.00
15.	20 S.Y.	Remove Driveway – Under 20 Square Yards	\$ 20.00	\$ 400.00
16.	40 S.Y.	Remove Driveway – Over 20 Square Yards	\$ 20.00	\$ 800.00
17.	200 L.F.	Remove Curb – Under 100 Linear Feet	\$ 6.00	\$ 1,200.00

Project Entitled:

2021 ON-CALL CONTRACT FOR CONCRETE CURBS, SIDEWALKS AND DRIVEWAYS (NEW, REMOVAL, REPAIR, REPLACE) AT VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD SEPTEMBER 1, 2021 THROUGH AUGUST 31, 2022

ITEM ESTIMAT NO. QUANTIT		UNIT PRICE	<u>AMOUNT</u>
18. 1,500 L.F.	Remove Curb – Over 100 Linear Feet	\$ 5.00	\$ 7,500.00
19. 20 S.Y.	Remove Island – Under 40 Square Yards	\$ 20.00	\$ 400.00
20. 40 S.Y.	Remove Island – Over 40 Square Yards	\$ 20.00	\$ 800.00
21. 4 C.Y.	Excavation, Test Pit	\$ 1.00	\$ 4.00
22. 150 C.Y.	Excavation, Unclassified	\$ 1.00	\$ 150.00
23. 150 C.Y.	Dense Graded Aggregate Base Course, Variable Thickness	\$ <u> 4. 00 </u>	\$ 150. <u>@</u>
24. 250 S.Y.	Hot Mix Asphalt Pavement Restoration	\$ 40.00	\$ 10,000.00
25. 10 S.Y.	Hot Mix Asphalt Driveway, 6" Thick	\$ 40.00	\$ 400.00
26. 20 L.F.	12" Ductile Iron Pipe	\$ 1.00	\$ 20.00
27. 16 L.F.	15" Reinforced Concrete Pipe, Class III	\$ 1.00	\$ 16.00
28. 16 L.F.	18" Reinforced Concrete Pipe, Class III	\$ 1.00	\$ 16.00
29. 16 L.F.	24" Reinforced Concrete Pipe, Class III	\$ 1.00	\$ 16.00
30. 1 Unit	Inlet, Type A	\$ 1.00	\$ 1.00
31. 1 Unit	Inlet, Type B	\$ J. so	\$ 1.00
32. 1 Unit	Inlet, Type E	\$ 1.50	\$ 1.00
33. 1 Unit	Manhole, 4' Diameter	\$ 1.00	\$ 1.00
34. 1 Unit	Inlet Converted to Manhole	\$ 1.00	\$ 1.00

Project Entitled:

2021 ON-CALL CONTRACT FOR CONCRETE CURBS, SIDEWALKS AND DRIVEWAYS (NEW, REMOVAL, REPAIR, REPLACE) AT VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD SEPTEMBER 1, 2021 THROUGH AUGUST 31, 2022

	ESTIMATI QUANTITI	21.0	UNIT PRICE	<u>AMOUNT</u>
35. 12	Unit	Reset Existing Casting	\$ 200.00	\$ 2,400.00
36. 1 U	Unit	Reconstructed Inlet, Type B, Using New Casting	\$ 500.00	\$ 500.00
37. 1 U	Unit	Reconstructed Inlet, Type B, Using Existing Casting	\$_1.00	
38. 1 T	Unit	Reconstructed Manhole, Using New Casting	\$ 1.00	\$ 1.00
39. 1 T	Unit	Reconstructed Manhole, Using Existing Casting	\$ 1.00	\$ 1.00
40. 1 T	Unit	Curb Piece, Driveway Access Backplate	\$1.00	\$ 1.00
41. 40	S.Y.	Concrete Sidewalk, 4" Thick — Under 40 Square Yards	\$ 80.00	\$ 3,200.00
42. 45	0 S.Y.	Concrete Sidewalk, 4" Thick — Over 40 Square Yards	\$ 80.00	\$ 36,000.00
43. 10	S.Y.	Concrete Driveway, Reinforced, 6" Thick – Under 20 Square Yards	\$ 80.00	\$ 800.00
44. 40	S.Y.	Concrete Driveway, Reinforced, 6" Thick – Over 20 Square Yards	\$ 80.00	\$ 3,200.00
45. 10	S.Y.	Concrete Island, 4" Thick — Under 40 Square Yards	\$ 80.00	\$ 800.00
46. 40) S.Y.	Concrete Island, 4" Thick — Over 40 Square Yards	\$ 80.00	\$ 3,200.00
47. 20) S.Y.	Detectable Warning Surface	\$ 245.00	\$ 4,900.00

Project Entitled:

2021 ON-CALL CONTRACT FOR CONCRETE CURBS, SIDEWALKS AND DRIVEWAYS (NEW, REMOVAL, REPAIR, REPLACE) AT VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD SEPTEMBER 1, 2021 THROUGH AUGUST 31, 2022

ITEM ESTIMATI <u>NO. QUANTITI</u>		UNIT PRICE	AMOUNT
48. 125 L.F.	6" x 8" x 20" Concrete Vertical Curb – Under 100 Linear Feet	\$ <u>50.00</u>	\$ 6,250.00
49. 2,650 L.F.	6" x 8" x 20" Concrete Vertical Curb – Over 100 Linear Feet	\$ 45.00	\$119,250.00
50. 20 L.F.	Belgian Block Curb – Under 100 Linear Fee	t \$ <u>50.00</u>	\$ 1,000.00
51. 100 L.F.	Belgian Block Curb – Over 100 Linear Feet	\$ 40.00	\$ 4,000.00
52. 40 S.Y.	Reset Concrete/Brick Pavers	\$ 81.00	\$ 3,240.00
53. 20 S.Y.	Concrete/Brick Pavers	\$ 81.00	\$ 1,620.00
54. 1 Unit	Reset Water Valve Box	\$ 1.00	\$ 1.00
55. 2 Unit	Reset Junction Box	\$ <u>250.00</u>	\$ 500.00
56. 500 S.Y.	Topsoiling, 4" Thick	\$ 3.00	\$ <u>1,500.00</u>
57. 500 S.Y.	Fertilizing and Seeding, Type A-3	\$1.00	\$ 500.00
58. 500 S.Y.	Straw Mulching	\$ 1.00	\$ 500.00
59. 20 L.F.	Reset Landscape Retaining Wall, 1' Exposed Height or Less	\$ 30. <u>w</u>	\$ 600.00

Project Entitled:

2021 ON-CALL CONTRACT FOR CONCRETE CURBS, SIDEWALKS AND DRIVEWAYS (NEW, REMOVAL, REPAIR, REPLACE) AT VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD SEPTEMBER 1, 2021 THROUGH AUGUST 31, 2022

	TOTAL LUMP SUM BID ALL ITEMS: \$267,841.00 (Numeric)
Two	HUND RED SIXTY SEVEN THOUSAND, EIGHT HUND RED FOURTY WE DOLLARS & ZERO CENTREM
	CONTRACTOR: Nova Construction, LLC.
	BY: Admary A. Nava (Printed)
	(Signature)
	TITLE: President
	DATE: 08 31 21